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Marks

Question 1 (10 marks)
a) The retail price of a computer is $940.50. This includes 10% GST. , 1
What is the GST on the computer? ‘
21— (%)
b) Evaluate w correct to 2 decimal places . 2
-3
2 2
Q) F1P+2°+3 4. 0= (”4+1)
i) Find P+2*+............ +10° 1
i) Find 11°+12% 4o, +30° | 2
d) Express 0.17 as a fraction in its simplest form. 2

e) Light travels at 300000 km/s. How far does light travel in 1 year?

Give your answer in scientific notation, correct to 2 significant figures. 2
Question 2 (12 Marks)
a) Simplify /8 — 2418 1
b) If V4 = 36 ¢ dthe value of A 2~
c) If 321 = a+b+2 find the values of @ and b 2
P2+ ‘
d) Expand (x-2)° 2

¢) Factorise

) x*-5¢-6 1
i)y 4x? - 100 2
i) x*-x - x + 57 2



Quiestion 3 (11 Marks)

a) Simplify:
. x
i
) x? —2xy
ii) L + !

~b) Solve:

2x+3 3 x+4 _
2 4

-3

i)

i) (1-2x)* =9

Question 4 (13 marks)

a) Ifcoséd = % and sinf < 0, find the exact value of tan @

b) Find the exact value of sec 570°

¢) Sketch the graph of the following, showing all essential features.

0 y=2"+1

i) (x=2)% + (y+1)? = 4

d) State the domain and range for each of the graphs in Question 4 c).

Marks
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Question 5 (10 marks)
x2 x<0
a) If f(x) =44 0<xx1
Lox>1
) find S+ D+ 119 2
ii) find f(a*+2) 1
b} Solve
)y 9-x’<4 2
i) |x-2] =2x+3 3
i) | 4-x] < 2 2
Question 6 (10 marks)
a) Solve tan’ @ —1=0 for 0<8<360° 3 .
b) Prove
cosfa + cos.a = 2secar | 2
I+sine  1-sine
62)2—1
¢} If —— = 2%x 3% find expressions for @ and b in terms of n 3
187
d) Draw a function which has a domain of x#2 and a range of y <0 where 2

x and y are real numbers
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Question 7 (11 marks)

a) Solve simultaneously

=—19- and y=x-2 2
x+1 -
b) Simplify
a—a’l 3
- b
a—2

¢) A person walks 10km west then 6km north. 3
What is his bearing back to his starting point?
d) Belowis a part of a function y = f(x) which is odd.
(8,2)
1)  Copy and complete the graph, 1
2

H) If fGx) +2=0, findx



Marks
Question 8 (10 marks)

a) Skeich the region which satisfies both inequalities. C
xy21 and y<4-x? | 3
b) i)  Sketch on the same set of axes
y=4-x* and y=2|x-2] 3
if) Hence, solve 4—x*>2|x—2| 1

¢) The parabola y = ax® +bx+ ¢ has a vertex at (2,1) and passes through (0,0).
Find a, b and c. 3

Question 9 (12 marks)

a) If f(x) =x> and g(x) = 2
x+1
i)  Showthat if g[Ax)] = flg(x)] then 2x* -4x+2=0 2
if) Hence find the values of x for which g[f(x)] = f[g()] 2
b) Ifx+y=1andx3+y3=19,ﬁndtheva1ueofx2+y2 3
c)
B
h
; ° D
ATE . C
x y
i) By finding 2 expressions for &, show that x tan o = ytan(90 — ) 2
i) Hence, show 2 = tan? & 1
X
iii) For what values of ¢ is y> x? 2
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